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Student: “Oh! Professor, did you see
that man hit the sidewalk ?”

Prof.: “My boy, that man did not hit
the sidewalk. His meta-center has been
shifted below his center ot gravity, thereby
changing his stable equilibrium to unstable
equilibrium, thus striking a small film ot
air on the surtace of the sidewalk.”

By Degrees

College men are very slow,
They seem to take their ease;
For even when they graduate,
They do 1t by degrees.

Doc Campbell, referring to Agee’s prob-
lem, “Yes, sixteen mistakes leading to the
correct answer—one mistake makes 1t
wrong, the second reverses the effect of the first.”

Moral: If you want the correct answer have an even number of mistakes.

Found in a geometry note-book:

Theorem: 1f you love a girl, she loves you.

Given—You love a girl.

To prove—She loves you.

Proot— :

1. Al the world loves a lover. (Shakespeare.) -

2. Your girl 1s all the world to you. (Evident.)

3. Your girl equals the world. (Things equal to the same thing are equal
to each other.)

4. Your girl loves a lover.

5. You are a lover.
6. Therefore your girl loves you.
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